
T T 3ufttara HTft greTH (UTRYT) TtiT, 2011 

1. 

(a) TTT hi HTAT4 

(C)3HTTT HIFTTH 

3HTf 2016 AIia ft TET i 

TT 32 3Taf (2020 h zRT (T) aTI 
b) 3TTRT 

(a) fata T 

(c)67T Tiet 
Ans (c) T TE7 sA ATT 3TEZ TSTH E 

(b) yhIT RTYUT 
(d) rR TT 

2. Rh a A1H TTH 3TATT TEI? 

(a) 5 
(c) H 

Ans: (a) Rh 5 TH 3TTR T T^TI Rh 

(a) TET 

(c) 
Ans:(b) HEIAT Tjet 7 TA 7 HYAi ZRT 12 HTT, | 

1930 3HE4T fèrm HTAdi ITAH 7 TE 

b) 
(b) HEH4T 

(d) 
(d) qa 

(a) T 3HTYTT R 

8. 

d) ATufe 3T7T HTT 

Ans (b) A fayft yai M4 EifT7 3T 

(a) 1950 

(c) 1952 
Ans (b) TR 777 7977 Z9HT 1951 

(b) 1951 

(d) 1953 

1951 1956 T5 TETI 
b)ffaT 
(d) ifAT 

Ans: (a) FÝTAA4 THS (2016) KTHTT fA 7 

(a) 9. 

(a) t 

(C)TH (d) Ha 
Ans (d) TESI TA yftYT YTq FqT a 7 

T 
1,25,000 

84,000 STT 
23,700 10. aTtt fs MAT aT U 
18,000 

12,000 
(a) 

(d) hIiRI AfG 

3 

2012 3fafuran TT ETT: 
(a) fst 

b) fH 

Ans 2012 3Tf% G7 TISE TSH K 

11. fH Tta a yti TAT TtT? 

(a) ak5 fs TAT 

(c) Eryt 

) fRret 
(d) 7 

27 TS 12 TTI 2012 5 d ATAT u 

B 2008 afs1, 7 TT97 fa54 |Ans: (a) 3TU5 TYA aET 
(d) HTTT 
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12. Tit HAT za aHTUS YEIT7 7Ei : 18. FTP 

(b) T 
(d)St 

(a) T3 
(a) T5 Use Net 74TATR HE 

(c) AT UYTTE 
(d) y IRC T 

Ans: (a) HTNiT AT 4JUE ITY 

TT I1. yfert aHTU TTTT RI) 2. T 
5ATUS (TAI) 3. 37tT HTUS (3Y4Y) 4. 14 

54TU (u) 5. Ttq 74TUS (TET5) 6. zfui ufërtt 

HTU (T) 7. sfPU 54JUS (THT) I 

13. RaT' ZHi HHTETR Ut : 

(a) 5 
(c) 

Ans (b) FTP T Heq zehia BAT FTP uf 

(b) TH.T 
(d) Tt (b) afrs 

(d) eTM 

(a) fhe 

(c) 
fT YAT 1851 YIST TTH Rr (Paul Julius 

2007 H5T 3a4TE7 fT TAT T TIY HU 

(a) R (b) H 20. ftara' z4at I : 
(a) ATT 

)3H45ARTA 
Ans (a) fATT A 3TT ETTT ia A 

(c) (d) ST- b)aTRT 
(d) TafRrT 

THT-41 100 cm zi 3ara7BT BT EI TRT 

21. f fea Ht t h T? 
(a) HTsT 

(c) .gM. 
Ans : (C) TT. i. T. TAA 5H TT U 

e fatar ytg FATAT 11 3T 1976 

(b) T 
b)rt 
(d) HTAT 

(a)oST 
(c)STtus 

(d) TIRTT 

22. "The Gatway of India" TEi A 

(a) (b) frct 

(d) TE faHr? (c) 

(a) 4t fT 

(c)t aTET 
Ans (d) fret e TA F4 aT| 

(d) t 
f T V TT EN 31 

1995 2012 T5 ft Hei fT7 TE AT 797 
ag fH TR fgm f T EI 2013 | 

3fer 3utaTa atf: 

17. 1980 'TA T UTt ai : Ffra 

(a) fa-raT T4 

(C) 7,t TA (d) aa. f 
1980 4 TT Hq H1A 

T f T, Tiai sr rHTA f 
Ans (b) H THT 

Af7 C-H a 
4nAa fes4T T4TI 7 TH 4 26 3T 1910 24. fatattaa t iaH T ATA FT? 

(a) AT 
(c) HT 

(b) 3TREUS
(d) FTTaUE 
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Ans: (a) T 
Ans (b) fa zT A7 TSf4T T, frR TE 18 4d 2014 3HTCTYT ACTTA I TTd YA BI TAT 7 3iR 2 2014 | 

2014 

|32. -7a F Tar for ag 
Tercaia 3Taya ? 
(a) Net BEUI 

(c) ATM 

25. yt 
(a) 4 

(b) NWLink 
(d) TCP/P 

()T (d) faqria 
Ans : (c) Tq 

RUT a l| Ans (d)FRAe RTT TAT f TCP/IP HTTR5 

(a) 11 
(c) 14 fRT 

Ans: (C) fe-i k4H 14 fHFraR 4AT4T STET I HTRT 
k4771T R 14 AR 1949 HTHTA THT ZIR 

b) 28 f7 

(d) 10 HT 33. 1969 fha-t äai TTaNUTZAT? 
(a) 14 

(c) 16 
Ans (a) 1969 14 ai TgrUgSTI 1969 * | 

(b) 15 
(d) 20 

(1) Allahabad Bank (2) Bank of Baroda (3) Bank of 
India (4) Bank of Maharastra (5) Cenara Bank (6) 
Central Bank of India (7) Dena Bank (8) India Bank 
(9) Indian Overseas Bank (10) Union Bank of India 
(11) Punjab National Bank (12) Syndicate Bank (13)| Uco Bank (14) United Bank of India. 

34. AIDS h UT: 

27. 4T i qu
t-~ah fAHIga 
(a) SHT5T (b)H1T
(c) 3 

Ans: (b) TT TT guet-~s fHHIET I HRT 

(a) atr a74R 

(b) TMN feHTT 

(c)tau 
(d) HIV (ATHA fATAT TT fATm 

(a) i fagt 

(d) e f4 
Ans: (d) aTHZ T r f 3M à, aHe 

29, HaH TAT E HETChIE: 
(a) HETHT (b) HT7U 

37 T5 TTHT 60 TiT R TI 
35. TE 3AT SITvg' ai 

C)39ATT (d) "EMIRT 

Ans: (b) T4HTAU 7T HETHTRT 400 .7 4 7HT: 

(a) A 

(c) 34f 
Ans: (d) M T5 MUE m I 

b) HIRT 
(d) 

30. and Ruins" TA7 H TTi ? 
(a) faa azTR 

(d) MGF (a) HHII 3fYT5R 

s (d) "Runs and Ruins" M TTF ZAT TfT 

(c) MUT f4 febR 

Ans : (b) HHT I 3HYAR TT AfYAR T8 EI 1978 
31. TeforaT aT 

(b) 
(d) zAvs 

(a) 
(c)- 
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(c)T 37. 'aTHTgE' FHT HgTTui Tar 
(a) rgaAy4 

(c) aT 

Ans: (a) gryfAfra4 v TTA5 T& eITT T 

(d) 
(b)TT 
(d) HI_5 

(a) feraHTsi a fat HT? 
(a) 2 

(C 10 
Ans: (d) 7 FHT 7RA h ufa 12 aR G 

(b) 8 

Ans (a) TATAT TN FA TR 
fHTS ft TI HAfaTAT Ttt 1503 à 1506 a| 

(d) 12 

T Hy4 3 7 1952 e4T 7T4T TI TE 
313 H, 1952 TIH PHT 3RTguf 

3HTAYA ? 
(a) faefAC 

(c) T4 
APIRT1954 )HTTTITTHT HGTA 
3H 80 3HR 250 AT T H 238 (d) fazfaa A 

Tyufa f 7 I 
45. fTATATOT aTT Tot HTA 3HTT 3A 

(a) S HTETA 
(c) 3 

Ans (c) MAATMT TT t HRA TT 3HTTAT 
3T7 T TI THÍaTT T HHTYR YT 
7 13 TT 1919. (HT )3. 

(d) fa 

(a) nT4 (6) UryfafA4 
(d) A 

Ans: (a) af 7qU H1T 3f96 a || 

(c)Hisq4 

(a) T (b)77 
(d) T 

Ans (d) TT FT IYT 47 Y67 Td It t, | f Tty a 1961 AE ZT 

(a) 1526 
(C) 1605 

Ans (b) 8rrzt zh TE 1576 gT 2TI T TEt F 

(b) 1576 
(d) 1660 

(C) R FTT 

1576 T T, f9FH FTTT fas IF E A| 
42. ia HrUT FaH I¥Tdi aiaT: 

(a) b) T 
(d) et 

b) T 3TCTHT YTEU 

(a) Tu 
(c) E 

Ans (a) Tpy TT Tguf 35TT BT I 

b) TT7H 
(d) e T4T 

43. 7alU faga aTAh : (a) 
b) yfafty4 
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(a)ei b)Trat 
() TedeT (d) THT 

Ans: (d) 

. 

37Hf TI 19 a 
(a) TT b) 

(d) T 
Ans: (d) T gAT (YT7) TTHT zAT (T) TT (a) Ri (b) hTa1-THT 

Ans 

(a) His b) H5 
(d) M 

Ans (a) z-ATT }R A 7 1913 

2f E T, t5R, 6R, HiroR, 

52. ATR ¥d 7au TH T a ? (a) T 
(c) 7Hfea 

Ans: (c) 595 4ATA EI AT48 1 TT 

(a) 1947 (6) 1949 

(d) 1951 
Ans: (d) TRT H FAW7H ATH HTE 1951 I 1951 

T 5 T 1952 H itHT I T7 TI 4TA 
16i aTTHHI TA , 2014 g ATH 1 AT 

)1950 
(d) A7U 

TRE T 

53. FHTR T�iT hUGT TH HTH : 
(a) af 

(a) TT b)5 
(d) fs 

Ans: (c) 4TR TET TU T TH TH 7 TT 
(C) 

4. TAT T "Air Marshal" HHg aT U 

(a) HRT 
d) i (a) afA 

(c) 

(b) T 
(d) aTiAT 

1990 H g 

ftr gsfta 
(a) HT5 THT (b) TafTA T 

Ans: (b) TRT H T6TT Fl R TS r tUET, fua g& 

FRTANTAT H 30 October 2011 T1 fH 

S, fzTTT mfPt 

aHTT 
(a) T TH 

(b) Tea H6THTT 

d) 7hès HBHR (a) T ETHTTR 
(d) T7 R f 
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Ans: (b) TR TT TTyT 15af T 347 T t|| (b)TuT S9TE 

63. yhTT-THTafAa e-lE zAYT zTAT: 
(a) yA44 AT 

(c) 3HTST 

Ans (a) ArATTU 5 TET RA aIT ATT5 iR 

(d) 55TH 

Ans (c) yCATRT THTaA5 HT 37Atq AIiH HIGHI3G (a) 7TTSA (b) it, at. THT 

3I TRHTE HT TT }ufeFT TAETRE Iz (PAN)| Ans: (a) 7 RStA Hftesi qta fTFT r 

SATfeTr 5 feru sitt fs 1972 faarral f&aT 

64. TETu aita FaUH HEi 3iTR T THT? 

(a) 75tll 24 Ht 1950 7 

(b) TETTR 24 Fa 1950 

(c) r 24 T-t 1950 1 

(d) hTT 27 fRH7 1911 TI 

71. t a1 ata 
(a) et HT4 (b) aa faesa 

d) ¥HT 

7 TTET1 7q7 1876 
TT T 12 sferaa (T) 1896 . 
TTH aTR T TATTT Tgy 7 27 HR 
1911 THT 3AT TiiA Tga 57 26 

31faaT T TT T 

H + H>2He + 3AT 

72. fuoai TJUAT Fha dt? 

(a) 2011 

(c) 2010 
Ans: (b) feTt T7TUAT 2001 I at 2011 
T7TUTT TTT 7di 7TUAT , FH TT H 
TqmOTATT fa i a 2011 TTU 34HR 

HTR TT T7HRT 121.5 I_ , MH J6T 
HET 62.31 aT HTTST TTHT 58.47

b) 2001 

(d) 2005 
FI T T ? 
(a) 3R T 

(d) TRIT 
Ans : (d) HTaf 5 Ts qra a Af7 fT à f4ef 

(c) HERT 

73. f 'AAt afa fAAtuT faaT? 
(a) T4 (a) TRh. RYU (b) 3HTR . T 

Ans: (d) fea F4H T^I 27 HT I Ta Ans: (a) 3R 7 RTqUT T a fHTUT FATAT 

67. 4T T}TA TA I 3CT fHA fT? 

(b) af4 
(d) HECHTTTET 

74. FtHT T TT (BSF) TATAT TAT: 

(a) 1947 
(c) 1960 

Ans: (d) AT JAT T (BSF) ¥TTT 7 Y5 s A5| 

(b) 1950 
(d) 1965 

Ans: (c) 4TR T î qaTT 3rfa SATRTT| 

TE 1 f7R 1965 gT TI H f TRT 
7UTa: 
(a) 2:1 

(C) 4:3 
Ans: (b) TET 3TYATC5R FH T S T 

(b) 3:2 

(d) 5:3 
75. "People Daily" HATATT TA H ZT T DUAT : 

(a) TRT b)YIA 
(d) ifar 22 T, 1947 51 HYATTI (c) 

Ans: (c) "People Daily" 4TR BVT I Z6 
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16. faerraAA HTTu gr 
(a) 

x9= h=h= ** 3600 3t 
04 

.04 

(b)ia 
(d) RTTY h 36 teT 

82. T H T Te5 aH AHT hT 20% t 10 

fttuET 60% q 30 fti. ua avET aR T 
(a) UNICEF 

() UNESCO 
Ans () ¥TT T UNESC0 (HZ UP 5, 

b) ILO 
d) FAO 

(a) 10 f. HT, /TUET 
(c) 20 f.t. /queT 

Ans: (c) HTT = 100d 

(b) 15 f t./qvET 
(d) 25 f.HT./UeT 

gH 4TYT 1946 . TÅ st TT 193 T T 

100d 78. trn g fu-ETG 
(a) AT 3r fea 

(c)T R MET 

20d 60d 20d 
b) TT TT THT 
(d) iT 3tR aET 10 30 20 

100d 

T TT TT 60-62 TT T 40-38 HTATT T5 5d 

100d 100x60 
= 

120d +120d +60d 300d 
60 

20 5.H/ETUZT 
83. T T 70% A i Ted , 40% BA 

3tt 20% a_fui fat vgit i 

(b) 22% 

(d) 55% 
(a) 16% 
(c) 48% 

Ans: (d) HIHT 5T BA FTreAT = 100x 

.T35 z FET = 40x 
TT, TsfT TET = (100x- 40x)= 60x 

f4 aI B rEI = 70x 
(100-20) 

100 
b) IBRDD 

d) OPEC 
80 

= 48x 

100 

(a) IMF 60x 

Ans (d) fa ter 540 OPEC aRT fAifT 

ETh&i TY5 9eife4 37425 12 T E I FHT| 
T T aN Tgi 5 FET = 70x - 48x = 22x 

22xx100= 55% feyz a T sfAYTT = 10055% 
40x 

84. &cit Ti 4 uE A TT HAT, 

b) 8 qu (b) 36 tz 
(d) 12 #t 

(a) 6 qve 
(a) 24 tex 

(c) 10 ve (d) 12 qu2 
C) 18 hea 

Ans:(b) HTAT R T5 . =h ¥4T. 

THIHTT,
TTATAIR, 4 

3-2- TR=h 
12 

t 12 quz h= 34h 
3 4 



(d) 50% (C)25% 
Ans (d) 

(b) 12 qs 
(d) 6 q5 

(a) 18 q 
33 t. 4 fa4 T- 33 T. 545 7 (9 a 

Ans: (d) T TT =P 
, h fAh7 = 22:33 

T% 5=22 100 
3p-p10 22 

x 100 50% 

3-1 -(i) 
14 HTT 9 Tt ta i ai Ti 

4 

p-p1 100 

(b) 210 

(d) 280 
(a) 180 

(c) 240 
Ans: (d) HHT TE =x 

TTTHR, 

9- 1 100 

a-1 100 
THT. ) , x 150 

- xx2-6= 150 

R x =150x= 280 17 
100 

|89. at a*b = a +b + ab, Fa (3*4 -2*3) TT HT 

(a) 12 

(c) 8 
Ans: (C) :a*b=a+b+ab 

.t= 6 q 
86. 3 3 4 a ai f H4a ugi aiT| (6) 10 

(d) 6 

(a) 3 a75 16 f f4ez (b) 3 q9 38 
[(3*4-2*3)] 
[(3 +4 +3 x 4)1-[(2+3 +2 x 3)] 
[(7+12) - (5 +6)] 

[19- 11] 

11 11 

c) 3 97 19f4z (d) 3 a7R 34 fae 
11 11 

Ans: (a): M=Tx30+0) 11 
8 

90. A, B i c aia7 671 ufT FH T È arci 

M=z(3 x 30+0) 
11 

(a) 112 

(c) 3366 
b) 223 
(d) F 559 

Ans: (a) A, B I C 5i g T T TNT 
= 671 +3+7+9 690 

T (A: B: C) =1:2:3 

M= (90) 

16fa 
T: 3 T97 16f7e n f4cat 

1 x 690=x690 = T 115 (1+2+3) 
A TRT: 87. 33 HtzT AIET aa , THl-aT 11 Ht 

6 G araT aT UIa zTAT i ATH| T A Rf7 TT = 115 -3 =7 112 

(a) 33% b) 66% 
3 

TfhTR T faaui 3 fe UTR taT 
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(a) 2 x 10 (A)2 

c) 4x 10 (2 

Ans: (a) I TT TT 

b) 2.5x 10 () 
d) 10 (t)? 

| 95, q tTIEt 9 fnf./ave a ara ag afi 
5 40 us u a ë, 3air 6 fst.v 
T 3HT fT ate V at 30 

a 

D 
(b) 60 tie 

(d) 100 e 

Ans:(d) TAT Tt a = d Hier 

Square (a) 40 e 

(c) 80 Htea 

4x AÄ. x 180 TUs 
18 

T =v ¥tzVH. 

= 200 tt. 

av2 200 

200 
2 

d-- = 40--1) 

a 

d-v-6x 30-) 
200 

18 

=20000 t.2 = 2x 10 #i.2 THt. ) (i) 

, 12 ET 17 teR 7 r7 1105 T 
ATHT 27 fa vsa f 7 1170 | 

-90-v-63 

(a) 8 T5 

(c) 14 T 
b) 12 T 

(d) 16 T 
4v-10 3v-5 

V= 5 T/H 

M,DM,D2 Ans: (a) W W2 

12x1727xM2 
1105 

d-s40 
1170 

12x17x1170 d- (10-5)x* 
M2= 8 

1105x 27 = 5x 20 

93. TAT4TRT us fHGHT 12.5% TET 3TT 

420 aTI 12.5% ATH H4TÀ fa aE| 
= 100 TieR 

96. T 75 fet HET 75% ai^T TAT , A 

(a)540 

C)680 

b) 600 

(d) 520 
(a) 150 

(C) 450 
Ans:(b) HIHI HT=x 

(b) 300 

(d) 600 

420 x 100 

Ans:(a) fR I 
100 75 75+ *x=x 

= 100x2 7 480 
175 

75 + x 75 = X- 4 

75 
25 

480100+ 2 
X= 300 

100 

480x 2257540 7:68 TT? 
(a) 25 a 200 

4. 6,8 3r7 12 1 aT 37UTa : 
(a) 15 

) 18 
Ans:(b) HAT T 3gYTi 

= X 

(b) 16 

d) 24 
C) 15 cier 

Ans:(d) 55 tiier fuqTaa 

b) 20 iz 
(d) 10 ier 

5S 
(7+4) 35 ter 

7= 
x= SXIZ 16 

6 
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TRT 55 35 20 ar B 
101. zf x+27 + AT 

357 (b) 4 
(d) 16 

(a) 2 

20+* 6 (8 

35x6 20+X Ans:(a) x+=2 
7 

30 20+x 
x= 10 ia 

98. fafta 5% ufaq a HTeTRU I : ad a|| 

x++2=4 x 
(a)4100 

(C)F 5000 
Ans:(a) TT ZTAA = TP 

(b) 4920 
(d) 5300 2 

100 
1230=Px5x6 

100

x'+24 P 230x 100 4100 

6x5 
99. 7t logg* +logs (x+2)* =1 T x h HTT E: x+ 2 

(a) 2 b) 4 

(d) 64 
Ans:(a) : logsx +log64 (x + 2)=1 

102. a eTOT I 31UTa 3 : 8 3R 115 
8 

logs(x) logs (x +2) = 1 

loggx(x+2) = 1 logmtlog.n =log,mn] 

x (x+2) = (8) 

x+2x -8= 0 

(b) 115 

d) 230 
Ans:(c) HT TE HT: 3x, TT 8x I 

(a) 69 

(C) 184 

ITAR, 
8x -3x= 115 

x*+4x -2x -8 =0 

x (x +4)-2 (x+4) =0 
(x+4) (x -2) = 0 

(x+4)=0, (x- 2) =0 
3T: X 2 

5x= 115 
X= 23 

qHET= 8x 
= 8x 23 = 184 

103. 2100 uNT 3000 T59T U HgGT3 aiT 
100. 800 TT Tqf aT 5% afta a a| 

f FH TSTA R 882 I1? 

(a) 1 a b) 2 q (a) 700 

(c) 1500 
Ans: (b) HTHT TST = x 

(b) 1200 
(d) 1800 (c) 3 (d) 4 q 

Ans : )A=P(00 T HTST a HT = 3000 - x 

THTTIR, 
882-800 14 xxl+ (3000 -)2100 100 

3000 
X* =2100 +15002100 882 

800 

-2100- 1500 600 
'X 1200 

104. Ta ufeaT TE V HTT 3R 3H aT 3, 5, 7,8 
(21 
(20 

HTYTR HHA E , 
(a) 12 fmez 
(c) 15 

(b) 14 ae 
(d) 16 fE t=2 
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Ans (b) 3 3,5,7,8, 10 6 T.. TA, 104-5 AT 7.= 840 TUE 
20 

840 = 14 HE 60 
109. t AH7T i YT TT TE6 fau 4T: 25 

(a) 1000 (tt.) 
(c) 625 (HT.)F 

(b) 500 (tt.)F 
(d) 300 (tt.F 

(a) 225mF (b) 2252 m 
C) 450 V2 m 

Ans:(d) i ABCD & = 900 2 
d) 450 m 71e T HHHTST7 EI 

H75}UT AAEB 30- 
a T = 900 = 30 AFRI5+B 

EB= VAB -AE? 
EB= V25)* -(20) =q PQRS T i 30. 

0 

HHRUT HISI AQBR EB = V625-4000 

-30 T RQ= vi5 +152 = 15/2 

q PORS 757 = (152 
EB = V225 
= EB = 15 

= 225 x 2 BD 2 x EB 
= 450 terF 

= 2x 15 
30 ieT 106. fcet HE hi 5 ATT A T 3 AT 
377: 44T x AC BD (a) 1 (6) 3 

d) 9 
Ans: (C) T-T HTT5T =1 (TT5T 4 uf5 Ti d 

2 

4 
x 40 x 300 

2 
.H = AS5 X TTHT+TY5T 

RE = 5 x 1+3 

= 600 H 

|110. fret qi m 20% qs i Tt , 
PH RET = 8 

(a) 20% 

(c) 44% 
THTTHTT, b) 40% 

(d) 400% 
8)4 20x 2 Ans (c) 757 7 % T =+20 +20+ 

100 
5 5 

T95=4 
40+4 44% 

107. TUTAT À U 12 3TAa 3i 40 fra 

TTt 54 TE 42 TT U 3 TA 50 

(a) 43 
(c) 40 

b) 41 

(d) 39 

HTT 5.25 fênctATa zTAT I TTTiT UTA T 
(a) 0.5 faIATY 
(c) 1.5 oATH 

(b) 1 fbcTATH 
(d) 2 foTATH 

Ans: (c) HTAT IÍ YT7 T =x AT 
TT T7 HTAT = w iz 

Ans:(d) Te sTH = 

12x 40-42 +54 74+50 

12 

480-116+104 468 
39 = 

TTHR, 12 12 

08. ThT A fzft TH 5 feat ar 3hT B 
3t 4 fei gT 7 FAT 8, TAT A, B 

x+W= l6.5 ThAT. - --(1) 

W 
X+ 5.25 fohAT. ----------(11) 

4 

THT. ) - (ii) A 

(a) 15 
)20 f 

(b) 18 a7 
(d) 12 fa W- 16.5 - 5.25 

4 

Ans:(c) C u fa r-- 
3w = 11.25 
4 
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11.25X4 - 15 cie 35 100 
W 40+50 +60 

3 

w HT Td. (i) Ta y 100 
x+15=16.5 150 

70-23% X= 16.5 - 15 

x= 1.5 f4T 
112. ft zal4R daa ua gaE a aaa|115. af ft te frUTEt 10, 15 Ta 25 iT qlrhai 

2:2T 3rura ATI 
(b) 900 

(d) 2500 
(a) 400 

C) 1600 
(a) 10% (b) 11% 

Ans:(b) 10, 15 qT 25 LCM T 

LCM 150 

uta aA f= 150 x 6 

PH77 T » 900 

(d) 25% C)9% 11 

116. ufft T a Hfea aaT , 

TT T 10:9 

37-TE %= Z100>10% 
10 

(a)f 
3 

(b)f 
7 

() 
16 

(d) 
21 4 

3HfrIT 4 Ans: (c): 4TT 314 BAI 
b) 64 

(d) 56 
(a) 16 

C) 60 
Ans: (b) 4TT HT x 

TTTHTT, 

fA 

-) -x+1)x=3 

TT 314 T 16 3 

117. T ATT 180 faTTeT g aa a 

-

x=64 
114. pa aaa aia d faau za4: 40, 

(a) 90 
(c) 60 

(b) 72 
(d) 36 

yAT T: 10, 20 3tr 35 a ai TH| 
yfavaan: 

180 180x 2 

(a) 15 b) 20 2 

(c) 23 (d) 26 36 x 2 
= 72 f5./TaT 

Ans:(c) 415 AT3T HEI 54T: 40, 50 3r 60 
4T3T4 % T =10%, 20% 3TN 35% 

T 40x10 50x 20 60x35 

HT: 11 ui 13 Hier T, a YT fasu 16 haT 

100 100 100 (a) 45 zr (b) 16 ez 
4, 10 TT 21 
TH F 4+ 10 +21 = 35 

16 
(c) 18 ier (d) 15 er 
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Ans: (C D13 121. B HTaT a ? 
(a) F 

(c) 
b) E 

d) A D 
Ans: (d) B i 41AT A I 

122. A fnd av ? B 
AB +BC +CD+DA* = AC? +BD? 

(13+(11)+(13) + (1F = (16)* +BD 
169+ 121 + 169+121 = 256+BD2 
580=256+ BD 
BD= 580 256 

BD 3244 
BD= 18 HteT 

(b) 2 
(d) 4 

(a) 
(c) 3 

Ans:(c) A d7 7B, F, D 
123. fAa ÀÀ T HIIA ant ET? 

(a) AD 

(C) BD 
Ans:(a) AD HÍETTAT I EI 

(b) AE 

(d) DF 
119. A, B a C at HTT ATY G 90 at 124. D à HU E 7IT HaI T? 

a E 34t ATQ 1:2:3 377UTa dTI C| (a) fm 

(c) 

(b) HTHT 

(d) 
Ans:(c) E, D TT8 

a) 33 q b) 36 qu$ 
d) 48 q 

Ans: (c) HTHT 3: T Y67 A, B TT C AT = x, 2x 

c) 42 q 
125. uftarT Y5 Fa KET fdt ? 

(a) 5 
(c) 3 

b) 
(d) 2 

rHT A, B aT C ST = x+6, 2x Ans: (b) RATT 7 JT 51 ET 4 

AT ET 126 À 130 f HT: 

7T 3x 

+6 7T 3x+6 

ITAR, 
x+6+ 2x +6+3x +6 90 
6x +18 90 
6x = 72 

126. 15, 16,? 29, 45, 70 
(a) 20 

(c)_24 
Ans: (a) T TET AT 

b) 22 

(d) 25 
x= 12 

C HT AT = 3x+6 

3x 12 +6 15 20 29 45 70 
36+6 

42 q F1 +4 +9 +16 +25 

120. fara TÈChaH aa 429 3AT4 3tr 715 HA STT:?20 +3 +5 +7+9 

127. 2,3, 5, 8, 13,? 

(a) 
(C) 21 

Ans: (C) TaT A-Tam 
2+3 5,3+5 8, 5 +8 13, 8+13-21 
37T 21 

128. 46080, 3840, 384, 48,?, 2,1 
(a) 36 

(C) 24 
Ans: (d) T ET faam 

(b) 286 

(d) 572 
(a) 143 

C) 429 
Ans: (a) 

3FiTe He = 429 3R 715 4. 

16 (b) 18 
(d 19 

.4. H. =143 

FRET 121 125 fa fadT 
(b) 30 

(d) 8 
rtarr à F 3: HG A, B, C, D, E T F T 

127 aT R B, cT afha C, B TT| 

IA 3tr c va faarfga u_T I E, C T T$ T||

46080 3440 384 48 

12 +10 +8 +6 +4 +2 

7?8

KT (121-125) 3AR fAy fafta verayuf 129. 1,5, 9,?, 25,37, 49 
(6) 17 

(d)_21 
Ans:(b)t T TEM Aaa -

(a) 13 

(c) 19 faafe 
E 

5 25 
12 2+1 32 4+1 52 6+1 72 

37 49 

F 4T -D 3AT ?17 B 



130. 11, 12, 17, 18, 23, 24,? 
(a) 28 
30 

Ans: (b) TTETT AAT -

(b) 29 

(d) 35 

L217 2 24 l22 Ans : (a) 

+5 

3T? 29 fri 

A HAT 131 135 faa Hevn 

Ans: (C) 

131. 2: TH T6 HTR I 

TYT HET 136 140 fA: 

Ans : (C) 

136. 4:Th 
(a) t4:aTH (b) TIT: TZH7 
(c) TTH (d) aTT: 77 

132. 2:T TR I 

137. T:TEtiT 
(a) 7 st 
(c) HTIT: HIZTHTIT (d) : RN 

Ans (b) T (waiter) TviT TH s6T 

(b) hIHTR: TT 

Ans : (d) 

138. HETt: 3474 
(a) HH HETHITR 
(c) fer : TRINT (d) af4T: 25 

139. HtR: ATYHTT 

(a) : _ 
133. 57:T _aT T3 EI 

(b) f4cAe 4THT 
(d) atAT5: 4f 

Ans: (a) TR HTATET F ATYHI HT9 THT TAR 
Ans: (b) 

140. TE: 1 
(a) : qH 

(c) :r 
(b) Ti:
(d) 7T: Tff 
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U ET 141 145 fT HET 146 150 a feT: 

SF6 2 45 6 7 8 T9To1 lfa z uarradfa I T au 3 TT 4 
Fa7ABJIH |CDEGFufrrs T : 

WHOM 
+A M O D 
A ME ND 

TR HET 146 150 f 4ETAuf TUT 

f 4 3TYAT 9 f5if Fre T T T|z za AFAT I 
O=6 H 7 

141. f T HAT H A7 ÀICB ZEH| 
JAGFY ETT? 

W= 9 

A=1 N 2 
M=0 D=5 E 8 

(a) 4264853 19 
(b) 462 48 53 19 
(c) 4629853 19 
(d) 462 4853 19 HR 4 6 2 9853 19 

Ans: (d)I C B Z E HJA G 

46 2 4 8 5 3 1 9 

4: fT TT 
WH O M 9 7 6 0 

A M 0 0 
A ME N D 

06 5 
108 25 

(b) MODE (a) EOWD 

(C)HOME 

Ans (a) 3T5 5TETA 

46 2 98 5 3 1 9 
(d) MADE 

II HTHR Z PA T 4 T 9 a 
9 7 6 0 

06 
86 9 5 

WH O M 

142. f aa 11111 ai T? 
(a) XBJ ZHZJBA b) ABJZHZJBX 
(c) XBJJIHIJBX 

A MO D 
E QW_D 

147. au 'D' 2a7 H A I uATH% ? 
(d) XA AAA (a) 

C) 6 
Ans: (b)3 RET75 5 8T 

b) 5 

(d) 8 
2 

Ans: (a) 11111 x 1111l = 1 234 54 321 

XBJZHZJBA 

148. WHOM fHaT uAT ? 

(b) 8765 

(d) 9760 
WHOM T u7 9760 EPT 

143. f À A6489 1252 Ha ? (a) 9756 

(c) 9675 
(a) CzEGABHB b) CIEGABHY 

(c) CIEGABHB (d) CZ EZABHY 

Ans:(d) 6 4 8 91 2 5 2 

CzE Z ABH YY 

Ans: (d) W-9 
H-7 
0-6 
M-0 

qu? 
144. fa ù À a 12349688 7 hd ? 

b) XBJIGCEE 

(d) AB J ZZCEE 

(b) E 

d) O 
Ans: (C) s FT T 35 9 uETT5 WÁI 

(a) H 
(a) ABJIGCEE ( W 

) (c) XBJ ZZCEY 
Ans:(c) 1 2 3 496 88 

XBJ Z zCEY 

45. TA H fHT HA X ZADFFZBY 

Fa ? 
(a) WE 

(C) OM 
Ans (b) 

(b) MM 
(d) MD 

(b) 94 1 700924 

(d) 73 1 700926 (a) 941710424 

(c) 44 1 700929 
Ans: (b) XZADFFZBY 

9 4 1 700 92 4 

= 9x7x6x0x1x0x5x6x5 =0 8l 
377: 75 uRAT75 MM I 

Ay4 I 7T III HTR 
75 



TeT 151 155 fr frT: - TT 156 16o f T 

EG4BH75@K8DN £QZ$W3C19*LB2S6 

(b) @ 
(d) 5 

(a) 7 (a) b) (c) (d) 
(c) K 156.2f àa dt, farrc faar, T 

Ans:(d) T JET 
EG4BH75@K8DN £QZSW3C19*LB2S6 Ans: (d) 

ZQENDBK@STHB4GESW3C19*LB256 
a 12 vaa s aT aT74 s7777 = 5 

152. fm à aa ard fa r str zrë fT157.xa, arr, aufaaara 

Ans : (a) 

(a)Q (b)S 
(c)Z (d) W 

Ans : (c) 

T TET EG4BH75@K8DN £QZSW3C19*LB2S6 

Z 8TT 158.31fTar, TT%, Tes 

Ans: (d) 

3? 
(a) 1 (b) 2 

C) 3 (d). 4 

Ans:(b) 
TET EG4BH75@K8DN £QZSW3C19*LB2S6 
@K8, SW3 

154. fA 7 zrd fat À 19 � araua arë 7| Ans : (6) 

159. F8, dT, Faf 

Ans : (6) 

foo (a) (b) N 

(c) £ (d) Z 

Ans: (a) 

E EG4BH75@K8DN £QZSW3C19*LB2S6 
a f 19 7 ATA R S ETI 160. , au, H 

155. 3T5 T N srai rem fsa-t Ans: (c) 

(b) 1 

(c) 2 (d) 3 

Ans: (a) 

T TaT EG4BH75@K8DN £QzZSW3C19*LB2S6 
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